NAME: Math 7.1

Mr. Rogove Date:

LEARNING OBJECTIVE: We will apply the distributive property to create
equivalent expressions. (G7M3L4)

CONCEPT DEVELOPMENT:
The Distributive Property allows you to rewrite specific expressions involving
multiplication and addition/subtraction without changing the value of the

expression.
Examples: Non-Examples:
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brs Using an Array Model to Show the Distributive Property
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. Steps for Using the Distributive Property to Create Equivalent Expressions

. 1. Rewrite the problem by distributing (multiplying) the term outside of the
. parentheses to each of the terms inside the parentheses.

i 2. Simplify your Expression.

(6x) +(b-12)

6x+?& ‘—_’J_]/
b
S
(o]

- m) ol —2(x+8
(-42) + () (~2%)+ (-4%)
~ o+ (Hy) ~dx + (~lb)
“he-ty !-Q\X'J(o!
%
4h + 0) X(3y +7)
B3P+ (69 = =
045+ (2-¢) a2
(
Tab * AC Ba b= Cab 3%y ¥ 3x

lax — 2y +72)
(39 - (3ay) + (3D

s g3

$(3a+2b -0

(5:3)+ (529)-(5.2)

1Sa +10b~5¢
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. Steps for Using the Distributive Property to Create Equivalent Expressions

. 1. Rewrite the problem by distributing (multiplying) the term outside of the
. parentheses to each of the terms inside the parentheses.
i 2. Simplify your Expression.

503x 1)) + 5% - By)

(530 +(5Y) + (32 (35))

1Bx% +5y + b - \By
(5 Sy +bx+ ()

(\Sx + an)—r(gy + C—l‘Sp)
2\x + (—\07«)

{&lx—loy

r

42 +4r) +7(1 - 2r)
(4:3)+ (44 + (1) -(-2)
Bk Jbr + 7y,
E’r lor + F+(-14c)
G‘or + ()G D

;2)(

6y + 8 2)

**rewrite as multiplication!

‘ It
(9g + 15 — %
3

Write two equivalent expressions for the
following array.

4x

\ oy

3 (Y )
o 1%

Write two equivalent expressions for the
following array.

2x

[,

0 S(Qﬁ"’b)
@) xS
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NAME: Math 7.1

Mr. Rogove Date:

INDEPENDENT PRACTICE:

. Steps for Using the Distributive Property to Create Equivalent Expressions
. 1. Rewrite the problem by distributing (multiplying) the term outside of the

. parentheses to each of the terms inside the parentheses.

2. Simplify your Expression.

3x+5)+52x—-1) 4(x + 3y)
(—=18x + 15y) = 3 6(2a — 3b + 6¢)
—3(8x —4y) + 2(12x + 4y) 52x + 3y) + 2(4x — 3y)
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NAME: Math 7.1

Mr. Rogove Date:

ACTIVATING PRIOR KNOWLEDGE:
We can combine like terms that involve subtraction and parentheses.

5t +3v — (2t — 3v) 3x + 12y — (8y — 14x)

CLOSURE:

Border Problem can be closure?

TEACHER NOTES:

This maps to lesson 3, module 3

Do the border problem from Boaler—kids make up different expressions. (10-15
minutes)

HW: Problem Set from Lesson 3
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